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1 100kN/mM##BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/MiZE#BZ 5 - -~ - -|3m#FB2 3 -~ - - -
ZThES 1.00/ 000 ~ 658 82.98] #hbList | 000 ~ 658| 1.86 9.97 ZTh LSt 1.00] 500 ~ 8.10 82.98| #hbList | 500 ~ 8.10| 1.86 9.97
9 100kN/mM#%# 8% % 1.00/0.00 ~ 054 108.02|3m#%E#ZB| - ~ - - —| 100kN/M%#8 2% 1.00| 10.62 ~ 12.20 108.02|3m%i#B% % -~ - - -
ZTh LS 1.00] 054 ~ 833 100.00] #hLlst [000 ~ 833] 2.12 11.37 Zh s 1.00] 500 ~ 10.62 100.00| #h st | 5.00 ~ 12.20| 2.12 11.37
4 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 476 59.34] #hList | 000 ~ 476] 1.77 9.45 Zh s 1.00] 500 ~ 500 59.34| #hbList | 500 ~ 500| 1.77 9.45
5 100kN/mM#%#BZ % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZThLS 1.00/ 000 ~ 7.34 9354] #hiis | 000 ~ 7.34| 181 9.70 Zh s 1.00] 500 ~ 950 9354 #hbiist | 500 ~ 950| 1.81 9.70
6 100kN/mM#%# 8% % -1 -~ - -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZTh LS 1.00/ 000 ~ 756 96.76] #hList | 000 ~ 756] 2.14 11.47 Zh LS 1.00] 500 ~ 10.00 96.76] #hList | 500 ~ 10.00] 2.14 11.47
7 100kN/mM#%# 8% % -1 -~ - -|3mZzBz3| - ~ - - -| 100kN/mMZ#B 25 - -~ - -|13m%i#Bz% -~ - - -
ZhLS 1.00/ 000 ~ 6.63 83.67] #hList | 000 ~ 663 1.80 9.61 Zh LS 1.00] 500 ~ 800 83.67| #hbList | 500 ~ 800| 1.80 9.61
8 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{0.00 ~ 7.17 91.13] ZnList | 000 ~ 7.17] 1.90 10.18 Zzh st 1.00f 500 ~ 9.50 91.13] Zh i | 500 ~ 950 1.90 10.18
9 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/ %22 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00]0.00 ~ 7.74 99.28| ZnList |0.00 ~ 7.74] 2.29 12.25 Zh st 1.00f 5.00 ~ 10.60 99.28| #nList | 500 ~ 10.60f 2.29 12.25
10 100kN/mM##BZ % -l -~ - -|3mzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 442 55.10] ZnList | 0.00 ~ 442 1.97 10.57 Zh st 1.00f 500 ~ 5.10 55.10] #n Ll | 500 ~ 5.10f 1.97 10.57
11 100kN/mM##BZ % -l -~ - -|amzEZB| - ~ - - -| 100kN/MZE#BZ 2 - -~ - -|3m%EiEZ S -~ - - -
ZnLst 1.00{ 0.00 ~ 755 96.66| Zzn Lyt |0.00 ~ 755| 2.10 11.23 Zh st 1.00f 5.00 ~ 10.10 96.66] ZHn Lyt | 500 ~ 10.10f 2.10 11.23
12 100kN/m##BZ % 1.00{0.00 ~ 0.10 101.48|3m%EHE %% -~ - - -| 100kN/ %8z % 1.00| 10.53 ~ 10.80 101.48|3m%E#B %% -~ - - -
ZnLst 1.00{0.10 ~ 7.89 100.00| Z1List |0.00 ~ 7.89] 2.17 11.62 Zh st 1.00f 5.00 ~ 10.53 100.00f #1list | 500 ~ 10.80| 2.17 11.62
13 100kN/mM##B 2% 1.00{ 0.00 ~ 0.52 107.69|3mZE#EZ 5 -~ - - -] 100kN/mM#%#B =% 1.00{ 10.89 ~ 12.34 107.69|3m%iB 25 -~ - - -
Zhn Lot 1.00] 052 ~ 8.30 100.00] Znldst | 0.00 ~ 8.30] 2.33 12.46 Zzh st 1.00f 5.00 ~ 10.89 100.00| Zh it | 500 ~ 12.34] 233 12.46
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Zh s ~ Zh LS ~ Zh LS ~
100kN/mM%#E% % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZHNLS ~ ZThLLst ~ ZTHLS ~
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